

Date:

Sub:

کتاب (مختار)

بسته‌های بنیادی

19

$$t_1 = F, t_F = 41$$

$$t_F = t_1 + (F-1)d$$

$$41 = F + (F-1)d \Rightarrow d = 0$$

(2) ✓

$$t_n = t_1 + (n-1)d = F + (n-1)0 = F$$

$$u_n = 100$$

$$(n=20)$$

$$1 \leq u_1 \leq 100$$

$$1F, \dots, 1F$$

(1)

$$11, \dots, 11 \leq 1F, \dots$$

$$\frac{1F - 1F}{1} + 1 = 119$$

(2) ✓

$$a_{n+1} + a_{n+2} + a_{n+3} = -n + 11$$

$$a_{n+1} + a_{n+2} + a_{n+3} = -n + 11$$

$$a_{n+1} = -n + 11$$

(2) ✓

$$a_{10} = a_0 + 10d = -5 \times 10 + 11 = -49$$

$$a_{10} + a_1 = -49 - 1 = -50$$

$$a_1 = a_0 + d = -5 \times 1 + 11 = 6$$

$$t_1 = 1^x - 1$$

$$t_n = 1^{x+1}$$

$$t_{11} = 1^{x+1} - 1$$

$$\frac{1^{x+1} - 1^x + 1}{1} = \frac{1^x - 1^{x-1} + 1}{1}$$

$$a_1 + a_2 + a_3 = 11$$

(1)

$$1^{x+2} - 1^x - 1^{x+1} = -1$$

(2) ✓

$$1^x (1^{x+1} - 1^x - 1^{x+1}) = -1$$

$$1^x (1^{x+1} - 1^x - 1^{x+1}) = -1 \Rightarrow x = 1$$

$$1^x - 1 + 1^x - 1 + 1^x - 1 = 1^{x+1} - 1$$

$$t_{11} - t_1 = 0$$

$$t_1 + t_{11} = 10 \Rightarrow t_{11} = 10, t_1 = 0$$

(1)

$$t_{11} - t_1 = 10 \Rightarrow d = \frac{10}{10} = 1$$

(2) ✓

$$t_n = t_1 + (n-1)d = 0 + (n-1)1 = n-1$$

Date:

Sub:

√ 10, 15

$$\frac{a}{x} (r_{a1} + kd) = \frac{1}{x} (r_{a1} + kd)$$

$$r_{a1} = r_{a1}$$

$$d = r_{a1}$$

$$\Downarrow$$

✓

$$\frac{a_r}{a_1} = \frac{a_{1+d}}{a_1} = \frac{r_{a1}}{a_1} = \left(\frac{r_{a1}}{a_1} \right)$$

$$t_0 + kd$$

(1)

$$t_9 = t_0 + 10 = t_0 + kd \Rightarrow d = 1$$

$$t_9 = t_0 + 10$$

$$t_0 = t_0 + 10$$

$$t_0 = t_0 + 10$$

$$t_0 = t_0 + 10$$

✓

$$r_{a1} = r_{a1} + kd$$

$$\frac{(t_9 - t_0)(t_9 + t_0)}{t_0} = \frac{r_{a1} (t_9 + t_0)}{t_0} = r_{a1}$$

$$d = \frac{x + \sqrt{x} - x + \sqrt{x}}{11} = \frac{2\sqrt{x}}{11} = \left(\frac{2\sqrt{x}}{11} \right)$$

✓

$$a_{n+1} = 11 \quad a_1 + nd = 11 \quad r + nd = 11$$

(1)

$$a_{1+n-1} = 11 \quad r + (n-1)d = 11 \rightarrow r + n-1 \cdot 1 = 11$$

$$a_n = 11 \Rightarrow n = 1$$

$$a_n + a_{n+1} = a_1 + a_{n+1}$$

$$a_1 + (n-1)d + a_1 + nd = a_1 + nd + a_1 + nd$$

$$(n-1)d = nd$$

$$n = 1$$

✓

(1)

Date:

Sub:

مسألة

$$a_n = \frac{1}{r} a_{n-1} \quad \frac{n}{r} = r$$

نقطة:

$$a_1 + (n-1)d = \frac{1}{r}(a_1 + \frac{1}{r}d) \quad (a_n = 0 \rightarrow a_1 + (n-1)d = 0)$$

$$(n-1)d - \frac{1}{r}d = \frac{1}{r}a_1$$

$$(n-1-\frac{1}{r})d = \frac{1}{r}a_1$$

$$n-1-\frac{1}{r} = \frac{1}{r} \quad \frac{1}{r} = 11-m$$

$$n=12$$

$$\frac{1}{r} = \frac{11-m}{r}$$

$$a_n = \frac{1}{r} a_{n-1} \rightarrow a_1 + \frac{1}{r}d = \frac{1}{r}(a_1 + \frac{1}{r}d) \rightarrow a_1 = -d$$

$$a_n = 0 \rightarrow a_1 + (n-1)d = 0$$

$$a_1 + td - d = 0$$

$$td = d \quad d \neq 0 \quad \boxed{t=1}$$